Fairfield GR3 U1 L9 S1
                         Investigating the associative property
1.  Find the sums:

a.  (1 + 7) +  10 = _______

a.  1 + (7 +  10) = _______

b.  (9 + 3) + 7 =  ________ 

b.  9 + (3 + 7) =  ________
c.   (3 + 12) + 8 =  ________   
c.  3 + (12 + 8) =  ________   
2.  Think about the numbers that you added above. What did you notice when you changed the groupings of the numbers?

_________________________________________________________________________________________________________________________________________________________________________________________________________

3.Subtract:

a.  (9 – 4) – 1 =  ________

a. 9 – (4 – 1) =  ________


b.
(10 – 6) – 3 =  ________

b. 10 – (6 – 3) =  ________
c.  (12 – 7) – 5 =  ________

c. 12 – (7 – 5) =  ________

4. Think about the numbers you subtracted above. What did you notice when you changed the grouping of the numbers?
________________________________________________________________________________________________________________________________________________________________________________________________5. An operation is associative if the grouping does not matter. Did the grouping matter in addition?    _______________ Did the grouping matter in subtraction? _____________
6. Find the sums.  Use the associative and commutative properties to regroup and change the order of the numbers being added.  Show work.
a.  (12 + 17) + 3 =  _______

b.   14 + 13 + 6 =  _______



Challenge problem: If (13 + 6) + 17 = 18 + □ + 12, □ = _______
